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V Semester B.Com. (Regular)B.DAJT and T/L.S.C.M./T and A5 Degree
Examipation. January/Febroary - 2025
COMMERCE
Finaneial Management
(NEP Scheme F+R 2023-24 Onwards)
Paper : 5.1
Time : 2% Hours ¥aximum Marks : 6
Instructions to Candidntes:
Answers should be writien in English oniy,

SECTION-A
Answer any Five of the following questions. Each question carries Two marks.
(5x2=10)
1. a)  What do ven mean by wealth maximizsation’?
b} Wrile the goals of finuncial management,
¢)  MName any four lactors determining the capital strueture.
d1  Whatis networking capital?
¢]  Write the formula for caleulation of profitability index (PL).
[} Whatis meant by fuhire value of money?
g} Caleulate EPS from the following:
ERIT Bz, 400,000
Preference dividend Rs. 30,000
Tix 50%
Dichentyre interest Ba. 100,000
Number of equity shares 100, 0HD
SECTION-B
Answer any Four of the following questions. Each uestion carries Five marks.
{4x5=20)

Briefly explain the role of finsnee manager.
Determine the futire value of the following series of payments ul the end of 5 years, assuming
10% rate of interest.

@y

End of the 17 vear - Bs. 1,000
End ofthe 2 vear - Ra. 2,000
L of the 39 year - [s 3,000
End of the 4" yesr - Res. o, (00K

End of the 3% year - Rs. 5,000
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4.

e

From the following, calenlate OL, FL and CL.

Sales Bus, 1000, (0K
Variahle cost 30
0% Debenlure capital Bs. 15,00 000
Fixed cost Ra, 2,000,000

Tax raly S04,

Calculate the paybacl: period from the lollowing:
Original investment R, 1,50,000, Life - & years.

Annoal cash flosws ™year - 30,000
T ygar - 401,00H)
M year - 30,000
TWE year- 40,000
VEyear - 40,000
VIt year- 30,0

Mame the Traditional and Moderm techniques of cupital budgetng and also give the meaning,
SECTION -C

Answer any Two of the following guestions. Each question carries Twelve marks.

(2x12=24)

Bhavani Co. Lid., whose cost of capital is 12% is asking vour advise with tollowing details.
Criginal cost of anasset - Rs, 1,00.00H)
Method of depreciaion - straight line
Tax rate - 0%
Profit hefore Depreciation and Tax at the end off

Year PEDT

I 30,004

2 35,000

3 401,000

4 50,000

3 30,000

i

By using “Average Rawe of Return™ and “Net Presemt Valoe™ methods, advise the company

whether o purchase the asset or not.

The present values of Rupee 1 at 12% discount rate are as follows:
Year: 1 2 3 A 3

PY¥ Iactors: N.RO29 07972 07118 (ke3ss 05674
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1.

1.

XV Z Company Ltd. is having capital of Rs. 20,00.000 divided into equity shares of Bs. 00
each. Fur its expansivn prograny, 1t needs further capital ol Bs. 200,00,000 for which the
following alternative financial plans are available.

a)  Allamount in equity shares.

by Allamount in 9% Debentures.

¢} Ra 10,00.000 in eguity sharcs and the balance in 10% debenmires.

4 R 10.0KL000 in 5% prefercnee shares and the balance in 10% debentures.

The present EBIT is Rs_6,00,000 and tux rate is 40%. Calculate the EPS by considering all
the above detsils and suzzest the company as to which financial plan is to be ydopted and

whiy?
Also culculate the new EPS if the B3I T increuses to Rs. 800,000 for all the financial plans.
i plain the various sources of financing of working capital reguimretients.

SECTION-1)

Answer any Ope of the following guestions, Each qu estion carries Six marks.
{1x6=6)

A Company 15 looking for an asset costing Rs, 2,00,000 and its cost of capital is 10%.
Using imaginary figores of urieven cash inflows for 5 vears, caleulage profitability index
and comment the zesult. The PY factors at 10% inferest rate for Rs. 1 are given below.

Year : 1 2 3 4 5
PV factors: o090 05264 07513 DG83 06204

Presently POR company is having working capital of Rs. 501,000,000, But il needs only
Ry, 25.00,000 for financing its working capital needs, which is the ideal. In the light of this,
discuss the dangers of having exeess working capital.




